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ex3_4.mdl
ex3_4_parameter.m

A1=[01;-10-11];
A2=[01;-10-2];
A3=[01;-100];
B=[0;1];
C=[10],

D=0;

x0=1[1;0];
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Al=[01;-10-11];
A2=[01;-10-2];
A3=[01;-100];

B=[0;1]; . S|
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x0=[1;0];
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[ MATLAB;EE ]
3.4.1 ERonsnfE

[ ScilabjEE ]

clear

s=poly(0,'s");

numQl11 =s+11;

numQ12 = 1;

numQ21 =-10;

numQ22 =s;

denQ1 =s+10;

denQ2 =s+1;

k11_1 = residu(numQ11,denQ1,denQ2)
k11_2 = residu(numQ11,denQ2,denQ1)
k12_1 = residu(numQ12,denQ1,denQ2)
k12 2 = residu(numQ12,denQ2,denQ1)
k21_1 = residu(numQ21,denQ1,denQ2)
k21_2 = residu(numQ21,denQ2,denQ1)
k22_1 = residu(numQ22,denQ1,denQ2)
k22 2 = residu(numQ22,denQ2,denQ1)
Kl=[kll_1k12_1;k21 1k22 1]
K2=[kll_2k12_2;k21 2k22 2]
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